4-Mx1

QHH15CA

QHH20CA

QHH20HA

QHH25CA

QHH25HA

QHH30CA

QHH30HA

QHH35CA

QHH35HA

QHH45CA

QHH45HA

2-5-11 QHRFIELEHR TR
(1) QHH-CA / QHH-HA

B

W=

AR

28

30

40

45

70

(mm])

4.6 12

SR5) 1255

7.5

18

9.2 20.5

i :1kgf=9.81N

w

34

44

48

70

86

B B,

26 4

32 6

35 6.5

40 10

50 10

60 13

[

26

36

50

85

50

40

60

50

72

60

80

HIWIN

6997503-1811 101
‘ K1
e a
G L
K2
@D P
1© O ,
s ]S '
/ i
{ i i pi
) i
L @d '
E P E
Mg M My
o o
sy ey
: 3 [ =)
-o- o
EHp EXx EX v =
. = = BRI =
BHRRT (mm) S R~t(mm) BEE DH BH
BRT Eff EHfE
M, M, M, AR SH
LoL K K G M T H H Wy He D ohod P OE mml CRNI ColkN) i kNom kN-m g g/
39.4 614 10 5 53 M4x5 6 79582 15 15 75 53 4.5 60 20 M4x16 1794 1986 010 0.08 0.08 0.18 1.45
50.5 76.7 11.75 3526 33.86 0.26 019 019 029
6 12 M5xé6 8 6 6 20 17595 85 6 60 20 Mb5x16 2.21
65.2 91.4 121 4252 4231 031 0.27 0.27 038
58 83.4 15.7 41.9 4875 0.39 0.31 0.31 050
6 12 M6x8 8 10 9 23 22 11 9 7 60 20 M6x20 3.21
78.6 104 185 50.61 60.94 050 0.45 0.45 0.68
70 974 195 58.26 66.34 0.60 0.5 0.50 0.87
6.25 12 M8x10 85 95 9 28 26 14 12 9 80 20 M8x25 4.47
93 120.4 21.75 70.32 88.45 0.83 0.89 089 1.15
80 113.6 19 7889 86.66 1.07 0.76 0.76 1.44
7.5 12 M8x12 10.215.513.5 34 29 14 12 9 80 20 M8x25 6.30
105.8 139.4 20.9 9523 11555 1.45 1.33 133 190
97 139.4 23 119.4 135.42 183 1.38 1.38 272
10 12.9M10x17 16 18.5 20 45 38 20 17 14 10522.5 M12x35 10.41
128.8 171.2 29.09 14413 180.56 2.47 2.41 241 3.59



